

and

$$\tau(n) \geq 2^{\log \log x - u/\log \log x}$$

then n belongs to the first class; otherwise it belongs to the second class. If $u \rightarrow \infty$ with x , all but $o(x)$ integers $n \leq x$ satisfy both the conditions above, and so the second class contains only $o(x)$ numbers. Now let Σ' run over elements of the first class. Then

$$\sum_{n \leq x} \tau^{2-2\lambda}(n) 2^{-\omega(n)} \ll x(\log \log x)^4$$

and so

$$\sum_{n \leq x} 1 \ll x(\log \log x)^4 2^{(2\lambda-1)\log \log x + (3-2\lambda)u/\log \log x} = o(x)$$

if $\lambda < \frac{1}{2}$, and u increases more slowly than $\sqrt{\log \log x}$, say

$$u = u(x) = (\log \log x)^{1/4}.$$

This completes the proof of Theorem 1.

References

- [1] T. van Aardenne-Ehrenfest, *On the impossibility of a just distribution*, Indagationes Math. 11 (1949), pp. 264-269.
- [2] P. Erdős and P. Turán, *On a problem in the theory of uniform distribution I, II*, Indagationes Math. 10 (1948), pp. 370-378, 406-413.
- [3] S. Ramanujan, *Some formulae in the analytic theory of numbers*, Messenger of Math. 45 (1915), pp. 81-84.
- [4] K. F. Roth, *On irregularities of distribution*, Mathematika 1 (1954), pp. 73-79.
- [5] W. M. Schmidt, *Irregularities of distribution*, VII, Acta Arith. 21 (1972), pp. 45-50.

DEPARTMENT OF MATHEMATICS
YORK UNIVERSITY
Heslington, York

Received on 3. 4. 1973

(391)

On the average length of finite continued fractions

by

TONKO TONKOV (Sofia)

Let a and n be positive integers, $1 \leq a < n$, $(a, n) = 1$, and let

$$\frac{a}{n} = \frac{1}{c_1 + \frac{1}{c_2 + \frac{1}{\ddots + \frac{1}{c_{l(a,n)}}}}},$$

where $c_1, c_2, \dots, c_{l(a,n)}$ are positive integers, $c_{l(a,n)} > 1$. Put

$$L(n) = \sum_{\substack{1 \leq a < n \\ (a,n)=1}} l(a, n).$$

Denote by $r(n)$ the number of solutions of the equation

$$n = xx' + yy'$$

in positive integers x, x', y, y' , for which $x > y$, $x' > y'$, $(x, y) = 1$, $(x', y') = 1$.

Recently H. Heilbronn [3] proved that if $n > 2$, then

$$(1) \quad L(n) = \frac{3}{2}\varphi(n) + 2r(n)$$

and

$$r(n) = \frac{6 \ln 2}{\pi^2} \varphi(n) \ln n + O\left(n \left(\sum_{d|n} \frac{1}{d}\right)^3\right),$$

where φ is Euler's function.

For the numbers a and n we compute positive integers q_i and r_i such that

$$r_0 = n, r_1 = a; \quad r_{i-1} = q_i r_i + r_{i+1} \quad (i = 1, 2, \dots, m)$$

and

$$r_0 > r_1 > \dots > r_m > r_{m+1} = 0.$$

This is the known Euclidean algorithm. Here m is the number of steps in the algorithm. Evidently, $m = l(a, n)$.

J. D. Dixon [1], [2] proved theorems about $l(a, n)$, namely (see [2]): For all positive ε there exists $c_0 > 0$ such that

$$|l(a, n) - 12\pi^{-2} \ln 2 \ln n| < (\ln n)^{1+\varepsilon}$$

for all except at most

$$x^2 \exp\{-c_0(\ln x)^{1/2}\}$$

pairs of integers a, n with $1 \leq a \leq n \leq x$.

Here we shall prove the following

THEOREM.

$$L(n) = \frac{12 \ln 2}{\pi^2} \varphi(n) \ln n + O(\sigma(n)),$$

where $\sigma(n) = n \sum_{d|n} 1/d$.

Preliminary results. We formulate two known lemmas.

LEMMA 1 (of I. M. Vinogradov [5]). *Let r be positive integer, α and β real numbers and let $0 < \Delta < 0.25$, $\Delta \leq \beta - \alpha \leq 1 - \Delta$. Then there exists a periodic function $\psi(x)$ with period 1 and with following properties:*

- 1) $\psi(x) = 1$ in interval $\alpha + 0.5\Delta \leq x \leq \beta - 0.5\Delta$;
- 2) $0 < \psi(x) < 1$ in intervals $\alpha - 0.5\Delta < x < \alpha + 0.5\Delta$ and $\beta - 0.5\Delta < x < \beta + 0.5\Delta$;
- 3) $\psi(x) = 0$ in the interval $\beta + 0.5\Delta \leq x \leq 1 + \alpha - 0.5\Delta$;
- 4) $\psi(x)$ has an expansion into Fourier series of the form

$$\psi(x) = \beta - \alpha + \sum_{m=1}^{\infty} (g_m e^{2\pi i m x} + h_m e^{-2\pi i m x}),$$

where

$$|g_m| \leq \frac{1}{\pi m}, \quad |g_m| \leq \beta - \alpha, \quad |g_m| < \frac{1}{\pi m} \left(\frac{r}{\pi m r} \right)^r;$$

$$|h_m| \leq \frac{1}{\pi m}, \quad |h_m| \leq \beta - \alpha, \quad |h_m| < \frac{1}{\pi m} \left(\frac{r}{\pi m r} \right)^r.$$

LEMMA 2 (see [4], p. 43). *Let q, b, a be integers, $q > 1$, $(a, q) = 1$. If $0 < q_1 < q$, then*

$$\sum_{x \leq q_1} e^{\frac{2\pi i b x^{-1}}{a}} = O(\sqrt{q} \tau(q) \ln q \sqrt{(b, q)}),$$

where $ax^{-1} \equiv 1 \pmod{q}$.

We shall use also

LEMMA 3.

$$\sum_{d|n} \frac{\mu(d)}{d} \ln d = -\frac{\varphi(n)}{n} \sum_{p|n} \frac{\ln p}{p-1},$$

where p is prime.

This lemma follows from the identity

$$\frac{d}{ds} \left(\sum_{d|n} \frac{\mu(d)}{d^s} \right)_{s=1} = \frac{d}{ds} \left(\prod_{p|n} \left(1 - \frac{1}{ps} \right) \right)_{s=1}.$$

Proof of the theorem. We have

$$r(n) = \sum_{(A)} 1,$$

where (A) designates the following triplet of conditions:

$$n = xx' + yy'; \quad x > y, \quad x' > y'; \quad (x, y) = (x', y') = 1.$$

Then

$$(2) \quad r(n) = \Sigma_1 + \Sigma_2 + \Sigma_3 + \Sigma_4,$$

where

$$(3) \quad \Sigma_1 = \sum_{(A)} 1, \quad \begin{matrix} x+y < \sqrt{n} \\ x'+y' < \sqrt{n} \end{matrix}$$

$$(4) \quad \Sigma_2 = \sum_{(A)} 1, \quad \begin{matrix} x+y < \sqrt{n} \\ x'+y' \geq \sqrt{n} \end{matrix}$$

$$(5) \quad \Sigma_3 = \sum_{(A)} 1, \quad \begin{matrix} x+y \geq \sqrt{n} \\ x'+y' < \sqrt{n} \end{matrix}$$

$$(6) \quad \Sigma_4 = \sum_{(A)} 1, \quad \begin{matrix} x+y \geq \sqrt{n} \\ x'+y' \geq \sqrt{n} \end{matrix}$$

Consider the sum Σ_1 from (3). We have

$$x < \sqrt{n}, \quad x' < \sqrt{n}, \quad y < \frac{1}{2}\sqrt{n}, \quad y' < \frac{1}{2}\sqrt{n}.$$

If $x < \frac{1}{2}\sqrt{n}$, then $xx' + yy' < \frac{1}{2}n + \frac{1}{4}n < n$. Consequently $x \geq \frac{1}{2}\sqrt{n}$. For fixed x, y , $(x, y) = 1$, the number of the pairs x', y' , for which $y' < \frac{1}{2}\sqrt{n}$,

is less than $\sqrt{n}/2x+1$ and we get

$$(7) \quad 0 \leq \Sigma_1 < \sum_{\frac{1}{2}\sqrt{n} < x < \sqrt{n}} \sum_{y < \frac{1}{2}\sqrt{n}} \left(\frac{\sqrt{n}}{2x} + 1 \right) = O(n).$$

Now consider the sum Σ_4 from (6). We have

$$x > \frac{1}{2}\sqrt{n}, x' > \frac{1}{2}\sqrt{n}, x < n/x' < 2\sqrt{n}, y < 2\sqrt{n}, x' < 2\sqrt{n}, y' < 2\sqrt{n}$$

and we get

$$(8) \quad 0 \leq \Sigma_4 < \sum_{\frac{1}{2}\sqrt{n} < x < 2\sqrt{n}} \sum_{y < 2\sqrt{n}} \left(\frac{2\sqrt{n}}{x} + 1 \right) = O(n).$$

From (4) and (5) it follows the identity

$$(9) \quad \Sigma_2 = \Sigma_3.$$

Consider in detail the sum Σ_2 from (4). The inequality $x' > y'$ is equivalent to the inequality $y' < n/x + y$. The condition $(x', y') = 1$ may be expressed by the Möbius' function μ and by (4), (3) and (7), we obtain

$$(10) \quad \Sigma_2 = \sum_{d|n} \mu(d) S_d + O(n),$$

where

$$(11) \quad S_d = \sum_{\substack{\frac{n}{d} = xx' + yy', x > y, (x, y) = 1 \\ x + y < \sqrt{n}, y' < \frac{n}{d(x+y)}}} 1.$$

Decompose the sum (11) into two sums:

$$(12) \quad S_d = S'_d + S''_d,$$

where

$$(13) \quad S'_d = \sum_{\substack{\frac{n}{d} = xx' + yy', x > y, (x, y) = 1 \\ x + y < \sqrt{\frac{n}{d}}, y' < \frac{n}{d(x+y)}}} 1,$$

$$(14) \quad S''_d = \sum_{\substack{\frac{n}{d} = xx' + yy', x > y, (x, y) = 1 \\ \sqrt{\frac{n}{d}} \leq x + y < \sqrt{n}, y' < \frac{n}{d(x+y)}}} 1.$$

We have for arbitrary sufficiently small positive number ε

$$\begin{aligned} \sum_{\substack{\frac{n}{d} = xx' + yy', (x, y) = 1 \\ \left(\frac{n}{d}, x\right) \geq n^{2\varepsilon}}} 1 &= \sum_{\substack{d | \frac{n}{d} \\ d \geq n^{2\varepsilon}}} \sum_{\substack{\frac{n}{d} = \frac{x}{d} + \frac{y'}{d} \\ x' + y' = \frac{n}{d}}} 1 \\ &= \sum_{d | \frac{n}{d}, d \geq n^{2\varepsilon}} \sum_{\frac{x}{d} = X} \sum_{\frac{y'}{d} = Y} \sum_{\frac{n}{d} = X + Y} 1 \\ &\leq \sum_{d | \frac{n}{d}, d \geq n^{2\varepsilon}} (\max_{m \leq n/d} \tau(m))^2 \frac{n}{d} \ll \frac{n}{d} n^{\varepsilon/2} \sum_{d | \frac{n}{d}, d \geq n^{2\varepsilon}} \frac{1}{d} \\ &\leq \frac{n}{d} n^{\varepsilon/2} \frac{1}{n^{2\varepsilon}} \sum_{d | \frac{n}{d}} 1 \ll \frac{n}{d} n^{\varepsilon/2} \frac{1}{n^{2\varepsilon}} n^{\varepsilon/2} \leq n^{1-\varepsilon}; \end{aligned}$$

$$\sum_{\substack{\frac{n}{d} = xx' + yy', \sqrt{\frac{n}{d}} \leq x + y \\ y < \left(\frac{n}{d}\right)^{(1-\varepsilon)/2}, y' < \frac{n}{d(x+y)}}} 1 < \sum_{\substack{\frac{n}{d} = xx' + yy', y < \left(\frac{n}{d}\right)^{(1-\varepsilon)/2} \\ y' < \sqrt{\frac{n}{d}}}} 1 < (\max_{m < n} \tau(m))^2 \left(\frac{n}{d}\right)^{1-\varepsilon/2} \ll \frac{n}{d}$$

and by (14) we obtain

$$(15) \quad S''_d = S'''_d + O\left(\frac{n}{d}\right),$$

where

$$(16) \quad S'''_d = \sum_{\substack{\frac{n}{d} = xx' + yy', x > y, (x, y) = 1 \\ \sqrt{\frac{n}{d}} \leq x + y < \sqrt{n}, y' < \frac{n}{d(x+y)} \\ \left(\frac{n}{d}, x\right) < n^{2\varepsilon}, y \geq \left(\frac{n}{d}\right)^{(1-\varepsilon)/2}}} 1.$$

Consider the sum S'''_d from (16). Let x be fixed, $x < \sqrt{n}$. Decompose the interval $[1, x)$ of variation of y into subintervals Y of the form $[y_0, y_0 + y_0^{1-4\varepsilon} \ln^2 n)$. The last subinterval may be incomplete, but we may eliminate it, omitting $O(n^{1-\varepsilon})$ solutions. In fact, one subinterval Y contains no more than $y_0^{1-4\varepsilon} \ln^2 n < n^{(1-4\varepsilon)/2} \ln^2 n$ numbers y . But $y' < \sqrt{n/d}$, consequently, the number of the pairs y, y' is $\leq n^{1-2\varepsilon} \ln^2 n$. To every y, y' it corresponds no more than $\tau\left(\frac{n}{d} - yy'\right) = O(n^{\varepsilon/2})$ pairs x, x' . Consequently, the number of the corresponding quadruples x, x', y, y' is $\ll n^{1-\varepsilon}$.

Count the number of the subintervals Y . The interval of variation of y contains $\ll \ln n$ subintervals of the form $[y_0, 2y_0)$ and one interval $[y_0, 2y_0)$ contains no more than $\frac{y_0}{y_0^{1-4\epsilon} \ln^2 n} = \frac{y_0^{4\epsilon}}{\ln^2 n} < \frac{n^{2\epsilon}}{\ln^2 n}$ subintervals Y . Consequently

$$(17) \quad \sum_Y 1 = O\left(\frac{n^{2\epsilon}}{\ln n}\right).$$

Let $y \in Y$. If

$$\frac{n}{d(x+y)} < y' < \frac{y}{d(x+y_0)}$$

then the number of the numbers y' is less than

$$\frac{n}{d(x+y_0)} - \frac{n}{d(x+y)} = \frac{n}{d} \frac{y-y_0}{(x+y)(x+y_0)} < \frac{n}{d} \frac{y^{1-4\epsilon} \ln^2 n}{y_0^2} = \frac{n}{d} \frac{\ln^2 n}{y_0^{1+4\epsilon}}$$

and the number of the numbers y is less than $y_0^{1-4\epsilon} \ln^2 n$; the number of the corresponding solutions x, x', y, y' will be

$$\ll \frac{n \ln^2 n}{d y_0^{1+4\epsilon}} y_0^{1-4\epsilon} \ln^2 n \cdot n^{\epsilon/2} = \frac{n \ln^4 n}{d y_0^{3\epsilon}} n^{\epsilon/2} < \left(\frac{n}{d}\right)^{1-4\epsilon+4\epsilon^2} \ln^4 n \cdot n^{\epsilon/2} < n^{1-3\epsilon}$$

because $y_0 > \left(\frac{n}{d}\right)^{(1-\epsilon)/2}$, ϵ is sufficiently small, and by (16) and (17) we get

$$(18) \quad S_d''' = \sum_{x < \sqrt{n}} \sum_Y \sum_{y \in Y} \sum_{\substack{\frac{n}{d} = xx' + yy' \\ x > y, (x, y) = 1 \\ \sqrt{\frac{n}{d}} \leq x + y < \sqrt{n} \\ \left(\frac{n}{d}, x\right) < n^{2\epsilon} \\ y' < \frac{n}{d(x+y_0)}} 1 + O(n^{1-\epsilon}).$$

We cut off the segment x as many times as possible (denoting it by q_{x, y_0}) from the beginning of the interval $\left(0, \frac{n}{d(x+y_0)}\right)$ of variation of y' and designate by E the received interval (E may be empty) and by F the remainder.

Following the application of the trigonometric method of I. M. Vinogradov [5] by the dispersion method of Yu. V. Linnik [4], put

$$\mu = \frac{\text{mes } F}{x}.$$

The number of the numbers $y', y' \in F$, is not more than $\text{mes } F$ and if

$$\mu < \left(\frac{n}{d}\right)^{1-2\epsilon} \frac{1}{x(x+y_0)}$$

then the number of the numbers y' shall be less than

$$\left(\frac{n}{d}\right)^{1-2\epsilon} \frac{1}{x+y_0} < \left(\frac{n}{d}\right)^{1-2\epsilon} \frac{1}{y_0};$$

the number of the pairs y, y' shall be less than

$$\left(\frac{n}{d}\right)^{1-2\epsilon} \frac{1}{y_0} \cdot y_0^{1-4\epsilon} \ln^2 n = \left(\frac{n}{d}\right)^{1-2\epsilon} \frac{\ln^2 n}{y_0^{4\epsilon}} < \left(\frac{n}{d}\right)^{1-4\epsilon+2\epsilon^2} \ln^2 n;$$

the number of the corresponding quadruples x, x', y, y' shall be

$$\ll \left(\frac{n}{d}\right)^{1-4\epsilon+2\epsilon^2} \ln^2 n \cdot n^{\epsilon/2} < n^{1-3\epsilon}$$

and by (15) and (14) we shall get

$$(19) \quad S_d''' = \sum_{x < \sqrt{n}} \sum_Y (q_{x, y_0} \sum_y 1 + Q_{x, y_0}) + O(n^{1-\epsilon}),$$

where

$$(20) \quad Q_{x, y_0} = \sum_{\substack{\frac{n}{d} = xx' + yy', x > y, (x, y) = 1 \\ \sqrt{\frac{n}{d}} \leq x + y < \sqrt{n} \\ y \in Y, y' \in F, \frac{y'}{x} < \mu}} 1,$$

$$(21) \quad \mu \geq \left(\frac{n}{d}\right)^{1-2\epsilon} \frac{1}{x(x+y_0)}$$

and \sum_y designates summation over y with the following conditions

$$y \in Y, y < x, (y, x) = 1, \sqrt{\frac{n}{d}} - x \leq y < \sqrt{n} - x, y \geq \left(\frac{n}{d}\right)^{(1-\epsilon)/2}.$$

From the equation

$$\frac{n}{d} = xx' + yy'$$

with $(x, y) = 1$, we get

$$y' \equiv \frac{n}{d} y^{-1} \pmod{x},$$

where

$$yy^{-1} \equiv 1 \pmod{x}.$$

The uniqueness of y' in the congruences is guaranteed by the condition $y' \in F$ and by (20) we get

$$(22) \quad Q_{x, y_0} = \sum_y \sum_{0 \leq \left\{ \frac{n}{d}, \frac{y^{-1}}{x} \right\} < \mu} 1.$$

Evaluate the sum in (22). Construct upper $\bar{\psi}$ and lower $\underline{\psi}$ function of Vinogradov, putting in Lemma 1

$$\alpha = -\frac{\mu n^{-\varepsilon}}{2}, \quad \beta = \mu + \frac{\mu n^{-\varepsilon}}{2}, \quad \Delta = \mu n^{-\varepsilon}, \quad r = 1 \quad \text{for } \bar{\psi}$$

and

$$\alpha = 0, \quad \beta = \mu, \quad \Delta = \mu n^{-\varepsilon}, \quad r = 1 \quad \text{for } \underline{\psi}.$$

We obtain

$$(23) \quad \sum_y \underline{\psi}\left(\frac{ny^{-1}}{dx}\right) \leq Q_{x, y_0} \leq \sum_y \bar{\psi}\left(\frac{ny^{-1}}{dx}\right),$$

where, designating $\bar{\psi}$ or $\underline{\psi}$ by ψ ,

$$\psi(\xi) = \beta - \alpha + \sum_{m=1}^{\infty} (g_m e^{2\pi i m \xi} + h_m e^{-2\pi i m \xi}).$$

We have for $m > m_0 = \left\lceil \frac{n^{4\varepsilon}}{\mu} \right\rceil$, according to Vinogradov's lemma,

$$\begin{aligned} \psi(\xi) &= \beta - \alpha + \sum_{m=1}^{m_0} (g_m e^{2\pi i m \xi} + h_m e^{-2\pi i m \xi}) + \sum_{m=m_0+1}^{\infty} (g_m e^{2\pi i m \xi} + h_m e^{-2\pi i m \xi}) \\ &= \beta - \alpha + \sum_{m=1}^{m_0} (g_m e^{2\pi i m \xi} + h_m e^{-2\pi i m \xi}) + O\left(\sum_{m > n^{4\varepsilon}/\mu} \frac{1}{m^2 \mu n^{-\varepsilon}}\right) \\ &= \mu + \sum_{m=1}^{m_0} (g_m e^{2\pi i m \xi} + h_m e^{-2\pi i m \xi}) + O\left(\frac{1}{n^{3\varepsilon}}\right) \end{aligned}$$

and by (23) we get

$$(24) \quad Q_{x, y_0} = \mu \sum_y 1 + \sum_{m=1}^{m_0} \left(g_m \sum_y e^{\frac{2\pi i m n}{dx} y^{-1}} + h_m \sum_y e^{-\frac{2\pi i m n}{dx} y^{-1}} \right) + O\left(\frac{1}{n^{3\varepsilon}} \sum_y 1\right).$$

Here we may use the inequalities $|g_m| < \mu \leq 1$, $|h_m| < \mu \leq 1$ and, according to Lemma 2,

$$\sum_y e^{\pm \frac{2\pi i m n}{dx} y^{-1}} \ll \sqrt{x} \tau(x) \ln x \sqrt{\left(\frac{n}{d}, x\right)} \ll \sqrt{x} \sqrt{m} n^\varepsilon \sqrt{\left(\frac{n}{d}, x\right)} < \sqrt{x} \sqrt{m} n^{3\varepsilon}$$

and by (24) we get

$$(25) \quad Q_{x, y_0} = \mu \sum_y 1 + O\left(\sqrt{x} n^{3\varepsilon} \sum_{m=1}^{m_0} \sqrt{m}\right) + O\left(\frac{1}{n^{3\varepsilon}} \sum_y 1\right).$$

But

$$\sum_{m=1}^{m_0} \sqrt{m} \ll m_0^{3/2} < \frac{n^{6\varepsilon}}{\mu^{3/2}} \ll \left(\frac{n}{d}\right)^{3/2} x^{\varepsilon} \left(\frac{n}{d}\right)^{3\varepsilon}$$

consequently

$$(26) \quad \sqrt{x} n^{3\varepsilon} \sum_{m=1}^{m_0} \sqrt{m} \ll x^{7/2} \left(\frac{n}{d}\right)^{-3/2} n^{3\varepsilon}.$$

By (19), (25) and (26) it follows, that

$$S'_a = \sum_{x < \sqrt{n}} \sum_F (q_{x, y_0} + \mu) \sum_y 1 + O\left(\sum_{x < \sqrt{n}} \sum_F x^{7/2} \left(\frac{n}{d}\right)^{-3/2} n^{3\varepsilon}\right) + O(n^{1-\varepsilon}).$$

But

$$q_{x, y_0} + \mu = \frac{\text{mes}(E + F)}{x} = \frac{n}{dx(x + y_0)}$$

and

$$\begin{aligned} \sum_{x < \sqrt{n}} \sum_F \frac{n}{dx(x + y_0)} \sum_y 1 &= \sum_{x < \sqrt{n}} \sum_F \sum_y \frac{n}{dx(x + y)} + O(n^{1-\varepsilon}), \\ \sum_{\substack{x > \sqrt{n}, (x, y) = 1 \\ \sqrt{\frac{n}{d}} \leq x + y < \sqrt{n} \\ \left(\frac{n}{d}, x\right) < n^{2\varepsilon}}} \frac{n}{dx(x + y)} + O(n^{1-\varepsilon}) &= \sum_{\substack{x > \sqrt{n}, (x, y) = 1 \\ \sqrt{\frac{n}{d}} \leq x + y < \sqrt{n}}} \frac{n}{dx(x + y)} + O(n^{1-\varepsilon}). \end{aligned}$$

Moreover

$$\left(\frac{n}{d}\right)^{3/2} \sum_{x < \sqrt{n}} \sum_F x^{7/2} \ll \left(\frac{n}{d}\right)^{3/2} n^{6/4} n^{2\varepsilon} \ln n < n^{3/4} d^{3/2} n^{3\varepsilon}.$$

Consequently, if $d < n^{2\varepsilon}$ (ε is sufficiently small), then

$$\left(\frac{n}{d}\right)^{3/2} \sum_{x < \sqrt{n}} \sum_F x^{7/2} = O(n^{1-\varepsilon}).$$

If $d \geq n^{2\epsilon}$, then

$$0 \leq S'_d \leq \sum_{xx'=X} \sum_{yy'=Y} \sum_{\frac{n}{d}=x+y} 1 < (\max_{m < n} \tau(m))^2 \frac{n}{d} \ll n^\epsilon \frac{n}{n^{2\epsilon}} = n^{1-\epsilon}$$

and by (15) for every $d|n$ we get

$$(27) \quad S''_d = \sum_{\substack{x > y, (x, y) = 1 \\ \sqrt{\frac{n}{d}} \leq x + y < \sqrt{n}} \frac{n}{dx(x+y)} + O\left(\frac{n}{d}\right).$$

It remains to evaluate the sum S'_d from (13). We have, putting $x + y = z$,

$$(28) \quad \begin{aligned} S'_d + S''_d &= \sum_{\substack{x > y, (x, y) = 1 \\ x + y < \sqrt{n}}} \frac{n}{dx(x+y)} + O\left(\frac{n}{d}\right) \\ &= \frac{n}{d} \sum_{\substack{\sqrt{n} > \delta \geq 1 \\ x + y < \frac{1}{\delta} \sqrt{n}}} \frac{\mu(\delta)}{\delta^2} \sum_{x > y} \frac{1}{x(x+y)} + O\left(\frac{n}{d}\right) \\ &= \frac{n}{d} \sum_{\delta < \sqrt{n}} \frac{\mu(\delta)}{\delta^2} \sum_{z < \frac{1}{\delta} \sqrt{n}} \sum_{\frac{z}{2} < x < z} \frac{1}{x} + O\left(\frac{n}{d}\right) \\ &= \frac{n}{d} \sum_{\delta \leq \sqrt{n}} \frac{\mu(\delta)}{\delta^2} \ln 2 \ln \left(\frac{1}{\delta} \sqrt{n}\right) + O\left(\frac{n}{d}\right) \\ &= \frac{n}{2d} \sum_{\delta \leq \sqrt{n}} \frac{\mu(\delta)}{\delta^2} \ln 2 \ln n + O\left(\frac{n}{d}\right) \\ &= \frac{n \ln 2 \ln n}{2d \zeta(2)} + O\left(\frac{n}{d}\right). \end{aligned}$$

By (28), (27), (12) and (10) it follows, that

$$\Sigma_2 = \frac{n \ln 2 \ln n}{2 \zeta(2)} \sum_{d|n} \frac{\mu(d)}{d} + O\left(\sum_{d|n} \frac{n}{d}\right).$$

But, using the identity

$$\sum_{d|n} \frac{\mu(d)}{d} = \frac{\varphi(n)}{n},$$

we obtain

$$(29) \quad \Sigma_2 = \frac{\ln 2 \ln n \varphi(n)}{2 \zeta(2)} + O\left(\sum_{d|n} d\right).$$

We deduce the theorem from (1), (2), (7), (8), (9) and (29).

References

- [1] J. D. Dixon, *The number of steps in the Euclidean algorithm*, Journal of Number Theory 2 (4) (1970), pp. 414-422.
- [2] — *A simple estimate for the number of steps in the Euclidean algorithm*, Amer. Math. Monthly 78 (4) (1971), pp. 374-376.
- [3] H. Heilbronn, *On the average length of a class of finite continued fractions in Abhandlungen aus Zahlentheorie und Analysis*, Berlin-New York 1968, pp. 87-96.
- [4] Ю. В. Липник, *Дисперсионный метод в бинарных аддитивных задачах*, Ленинград 1961.
- [5] И. М. Виноградов, *Метод тригонометрических сумм в теории чисел*, Москва 1971.

Received on 4. 4. 1973

(392)